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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions no. 1 to 10 should be in 150 words, whereas answers to
Questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer (QCA) Booklet must be
clearly struck off.
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Q1.

Q2.

Q3.

Q4.

Q5.

IR efemm et § A Bl deer (AR D) B s w6
%?Wﬁwm%mﬁﬁ.ﬁ.ﬁ.%ﬁﬁﬂﬁwwqﬁwml
(150 wr=gi © 3Ie 2ifvrm)

Why is Public Private Partnership (PPP) required in infrastructural projects ?
Examine the role of PPP model in the redevelopment of Railway Stations in
India. (Answer in 150 words)

N IR AAFTEYT & I=id GHE SHE GWa & 2 wRd § o e 6
wifed % fore ety am@w % wew 1 seore Hifvm | (150 wregi & 3w ifom)

Is inclusive growth possible under market economy ? State the significance of
financial inclusion in achieving economic growth in India.

(Answer in 150 words)

W | e faa et (fduw.) # wge gt w0 E 2 @ e s
ST G YRGS St @ 2 (150 Weal F I Afw)

What are the major challenges of Public Distribution System (PDS) in India ?
How can it be made effective and transparent ? (Answer in 150 words)

W | @re R I8 % R 3 TE # afan avi Sif |
(150 9rsg} & I Eifrw)

Elaborate the scope and significance of the food processing industry in India.
(Answer in 150 words)

¥ ¥ oy gwifaa § ot 9fg & " # 78 w@wen gt @@ @ W ¥ | 9w
T3 gAfeat BA-HE o # 3R ITH gmaE ¥ TR HeH I TN FAEF B 2
(150 wreg] & I difw)

The increase in life expectancy in the country has led to newer health
challenges in the community. What are those challenges and what steps need
to be taken to meet them ? (Answer in 150 words)

gl I gag W ufq 9 9 wen F qweafa werd, d9ei, swm oA 9w 2 | ¥
g R wipfas wfkaeit & qera @ @ B 9w sReTETss, o aen
3 I I | ufafda & e & 2 (150 w3t & I )

Each year a large amount of plant material, cellulose, is deposited on the

surface of Planet Earth. What are the natural processes this cellulose
undergoes before yielding carbon dioxide, water and other end products ?

(Answer in 150 words)
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Q7.

Qs.

Q9.

Q10.

Ql11.

Ta% fmior, W@ 3 I I AE 2 U Bk Wi i fawamgds ==
$1fT | 1999 F MIaT Nerwial H GHAEC | (150 Wea) § I &)

Discuss in detail the photochemical smog emphasizing its formation, effects

and mitigation. Explain the 1999 Gothenburg Protocol.
(Answer in 150 words)

g IR % e H aee Bed o frafafy i wem i wuwme | ' % @
Jererun it Tt I | (150 egi # 3w )

Explain the mechanism and occurrence of cloudburst in the context of the

Indian subcontinent. Discuss two recent examples. (Answer in 150 words)

Tifea Sl % YeR H FE=l i | TEE IR AP T W g "fed
g 3R sTdRaTedl % e Geyl w1 vl Ff | (150 wegt # I §fe)

Discuss the types of organised crimes. Describe the linkages between terrorists

and organised crime that exist at the national and transnational levels.

(Answer in 150 words)

wRa # G geen gAfeat #n § 2 Tl gen § gun & fou f 7 @res,
FHAE o ufrarenss qaal # fag= Fifse | (150 =gl o I difw)

What are the maritime security challenges in India ? Discuss the
organisational, technical and procedural initiatives taken to improve the

maritime security. (Answer in 150 words)

“gret % et o e faspma o Icareshar § gfg & FROT WE B3 R |7 39
=1 GAIEY | U@ dgfg wfewy i wwarfaa Fifse St sm e @ qwsitar fee fam
Fftres TR Scafer | T &1 | (250 w&gi § I i)

“Economic growth in the recent past has been led by increase in labour
productivity.” Explain this statement. Suggest the growth pattern that will
lead to creation of more jobs without compromising labour productivity.

(Answer in 250 words)
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Q12.

Q13.

Ql4.

Qlﬁ.

Q16.

1 Ak fmm # wra st ol sravaEar # 50 wfiwE wm, 9 2030 %
FIHTT ol | AT B AW ? I I F st @ fag Fifv | Fawm S A
afetrdl g2 38 FHO St didl § am SR 3eva ufd § fRe TER geeE
BT 2 §EETSY | (250 Wsdl # I Aifom)

Do you think India will meet 50 percent of its energy needs from renewable
energy by 2030 ? Justify your answer. How will the shift of subsidies from
fossil fuels to renewables help achieve the above objective ? Explain.

(Answer in 250 words)

WA § B I F fawm i SedgEl ot sdimeh ufen § gew st
87 (250 e § 3T difore)

What are the main bottlenecks in upstream and downstream process of
marketing of agricultural products in India ? (Answer in 250 words)

waferd FfY yoreht = @ 2 ywa # SR 3R diwia frEEl F o g7 $3 amveEs @
Hhdl 8 ? (250 weq1 7 3T difor)

What is Integrated Farming System ? How is it helpful to small and marginal
farmers in India ? (Answer in 250 words)

25 fegmg, 2021aﬁiﬁigrw@rraéaaiaﬁaéﬁﬁ¥aﬁqmﬂﬁmmﬁﬁw§m% |
3q0 Ul BH-HNE @ s fagward § S 3@ 39 vee % ofahe IR @ O
st € 2 39 v & g o w # 2 9a o % e s @ g @y A
HHd € 7 (250 weal # 3w Afrw)

Launched on 25" December, 2021, James Webb Space Telescope has been
much in the news since then. What are its unique features which make it
superior to its predecessor Space Telescopes ? What are the key goals of this

mission ? What potential benefits does it hold for the human race ?
(Answer in 250 words)

S faspm 1 smumqd fagia w0 2 2 J FY B @ § 2 Bifre-19 A F
Fymtor 3 wrefvr e Frtaait 3 - gt s # 2

(250 i # IR difs)
What is the basic principle behind vaccine development ? How do vaccines
work ? What approaches were adopted by the Indian vaccine manufacturers to
produce COVID-19 vaccines ? (Answer in 250 words)
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Q17.

Qis.

Q19.

Q20.

e A (T aeE) f ==t Hifve it AfveE JTEag wosEs TwEl &6
Ioo@ FIfHU | T GEehia, 1997 & TlF § Tegd ST H HR g4 Jrelt
HieEd NEi & X H F9 F4 & v g sumi s augme |

(250 &gt § IR difsm)

Discuss global warming and mention its effects on the global climate. Explain
the control measures to bring down the level of greenhouse gases which cause
global warming, in the light of the Kyoto Protocol, 1997. (Answer in 250 words)

a9 e % HRUI U9 YWEl I GEIHATEY | W H1 FHEeN HH 6 AU
30T AT VYA deheleh 1 & ? (250 Yeal A IR 4ifery)
Explain the causes and effects of coastal erosion in India. What are the
available coastal management techniques for combating the hazard ?

(Answer in 250 words)

|rse guan & fafvm aw Fan @ 2 wse gean 1 Al eI d TEd gy e
Hifse o6 wra 3 759 &g 7% U =S TP AEE GE WHITG Therdrgds fahied
$ 21 (250 W=l § I i)

What are the different elements of cyber security ? Keeping in view the

challenges in cyber security, examine the extent to which India has
successfully developed a comprehensive National Cyber Security Strategy.

(Answer in 250 words)

TeIaTE U "I, A1 TR fasmErers ge ® I U feme it guen '@
% ¥ H yehe BT 8 | 39 He # 3IWd BT WEl Al == HIfSY R FeEeErE F Ew
& fAves it sgwata wrifa =1 gama dife | (250 w=ai # I i)

Naxalism is a social, economic and developmental issue manifesting as a

violent internal security threat. In this context, discuss the emerging issues
and suggest a multilayered strategy to tackle the menace of Naxalism.

(Answer in 250 words)
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